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Primitive : donner ’expression d’une primitive
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Primitive : donner ’expression d’une primitive

Travail a effectuer mentalement

Réponse(s)

1
Primitive de f(x) = —
x

Primitive de f(z) =z + 2% + 23

Primitive de f(z) =3+ ¢®

Primitive de f(z) = 52 + 32% + 1

4
Primitive de f(x) =
x

Primitive de f(z) = — +3

2
1
3z

Travail a effectuer mentalement Réponse(s)
1
Primitive de f(z) =0,5 x —
x
Primitive de f(r) =
rimitive de f(z) =
2?2 +3
Primitive de f(z) = 3x2x+ 1
1
Primitive d =
rimitive de f(x) 213
1
Primitive d =
rimitive de f(x) "
2
Primitive d =
rimitive de f(x) e

Primitive de f(z) = 4 cos(4x)

Primitive de f(z) = cos(5z)

Primitive de f(z) = sin(3z)

Primitive de f(z) = sin(5z)

Primitive de f(z) = sin(6z + )

Primitive de f(z) = 00

Primitive de f(z) = 5e°*

Primitive de f(z) = e 0,52

Primitive de f(z) = e*®

Primitive de f(x) = 3 X (3z + 5)?

Primitive de f(z) =e™®

Primitive de f(z) =2 x (2o — 1)*

Primitive de f(z) = —11e”

Primitive de f(z) = ez

3

Primitive de f(z) = m
x

Indication : f(x) = 3(3x +5)2

Primitive de f(z) = —11 4 €

Primitive de f(x) = L

(22 +9)*




